Inter (Part -11) 2019

Computer Science PAPER: Il

Time: 20 Minutes| (OBJECTIVE TYPE) Marks: 15

Note: Four possible answers A, B, C and D to each question
are given. The choice which you think is correct, fill that =
circle in front of that question with Marker or Pen ink in

“the answer-book. Cutting or filling two or more circles

, will result in zero mark in that question.

~ (MS-ACCESS)

1-1- SQL stands for:
(a) Sort Query Language
(b) Self Query Language
(c) Seek Query Language
(d) Structured Query Language v |
2- Which of the following can be a primary key:
- (a) Last name (b) Salary
(c) Customer DY (@) Region

3- Which of the following is used to descrlbe the
- ‘characteristics of an object: - '

(a) Attribute - (b) Relationship vV .
* (c) Cardinality (d) Modality '
4- Every relation should have:

(a) Primarykey ¥ (b) Candidate key
(c) Secondarykey - (d) Mutually key
5- Which of the following is not a database object:
: (a) Table ' (b) Query .
: (¢) Query Report (d) MS-Word v
6- ' The graphical query tool is known as:
* (@) Querygrid  (b) Designgrid
' (c) Query form (d) Design form v . -
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C-Language

(C—Language)
7- The output of the compiler is called:
(a) Library code (b) Source code
| (c) Linkedcode = (d) Object code v
8- Variable and constant name cannot contain:
(a) Number (b) Underscore
' (c) Letter (d) Period vV
o The function that is used to display output on the
screen is called:
(a) Printf - (b) Scanf Y
(c) Pow (d) Display
Switch statement is an alternate of:
(a) nested if (b) if-else v
(c) nested if-else (d) if
11-  The case block ends with: |
 (a) End Select (b) End Case
(c) break v (d) Case Else
12- ° Which loop structure always executes at least once:
(a) do-while ®) for s [ H°
(c) while - (d) All of these vV
13- - Semicolon is placed at the end of condition in:
(a) while loop ~ (b) do-while loop
(c) for loop vV (d) All of these
14- - The scope of variable refers to its:
(a) Length (b) Name
(c) Accessibility (d) 'Data type 1/
15-  Which of the followmg character is used to mark the

end of string:
(@ \o : { (b) Ir

(0): N2 S e Sy i o
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